
PISTON  
PUMPS

A

Model

AR16  

A16

Approx. Mass  
(Flange Mtg.)

Ratio of Mass  
(AR16/A16)

9.8 kg (21.6 lbs.)  

16.5 kg (36.4 lbs.)
60 %

M

O

OUT

IN

Spool

Control Piston

Pivot

Journal  
Bearing

Shaft

Yoke

Slipper Retainer

Piston Ass'ySpring

Cylinder Block

Port Plate

Flow Adj.  
Screw

Pressure  
Adj.  

Screw

Pressure Compensator Valve

Graphic Symbol

A16,32 Design

263.5(10.37)
Fully Extended

240(9.45)
Fully Extended

130(5.12)

188(7.40)

18
7(

7.
36

)
19

0(
7.

48
)

AR16,20 Design

Drain Port

3  Up to 16 MPa (2320 PSI), 22.2 cm /rev (1.35 CU.IN./rev)

No.1

"AR" SERIES PISTON PUMPS  
Variable Displacement-Single Pumps  

Pressure Compensator Type,AR16 / AR22-FR01

Pub. EC-0104

Smaller in Size and Lighter in Mass
As indicated in the dimensional comparison presented 
below, the AR16 is smaller than the A16 (32 design).  Also,
 the mass of AR16 is substantially lighter than the A16.

Features
Low Noise
The noise level of AR16 has been reduced by 1-2 dB (A) at
 full flow and full cut-off compared with that of the excellent
 A16 quiet pump.

[Comparison of "AR16" with "A16"]

DIMENSIONS IN  
MILLIMETRES (INCHES)



PISTON  
PUMPS

1.
2.

2

1

Response Characteristics / Installation Drawing

Full Cut-off Pressure  
P    

MPa (PSI)
Model 1

t t 1 2

Response Time  
ms

Overshoot  
Pressure  

MPa (PSI)

AR16  

AR22
16 (2320)

60  

70

65  

70

5.6 (810)  

7.3 (1060)

AR16/AR22-FR01∗-20  

AR16/AR22-FR01∗-2080  

AR16/AR22-FR01∗-2090

"C" Thd.

Rc 3/4  

3/4 BSP.F  

3/4 NPT

M10

3/8-16 UNC

"D" Thd.

Rc 3/8  

3/8 BSP.F  

3/8 NPT

"E" Thd.

Rc 1/4  

1/4 BSP.Tr  

1/4 NPT

"F" Thd.Model Numbers

SOL

M
O

Hydraulic High Pressure Hose  
3/4" × 1 m (3.3 ft.)

Ps 

P 1 

t 2 t 1 

SOL
OFF ON OFF

2 MPa (290 PSI) 2 MPa (290 PSI)
Time

Pressure

22.2

32.5 32.5

120
(4.72)

(1.28) (1.28)

47
.6

(1
.8

74
)

172
(6.77)

106
(4.17)

50
(1

.9
7)

10
(.39)

195.5(7.70)
Fully Extended

68
(2.68)

(.874)

(.26)

19
.0

5(
.7

50
0)

"E" Thd.  
17(.67) Deep  

2 Places

Suction Port  
19(.75) Dia.

Discharge Port  
"C" Thd.

Pressure  
Gauge  

Connection  
"F" Thd

19
.0

2(
.7

48
8)

D
ia

.25

6.5

(.98)

(1.75)
44.5

21
.2

4(
.8

36
)

21
.0

8(
.8

30
)

77
(3

.0
3)

82
.5

5(
3.

25
0)

82
.5

0(
3.

24
8)

D
ia

.

12
(.4

7)

165.5(6.52)
Fully Extended

Fully Extended
100.5
(3.96)

4.79(.1886)
4.76(.1874)

31
(1

.2
2) 96

(3
.7

8)
11

4
(4

.4
9)

76
(2

.9
9)

130
(5.12)

INC.

Pressure Adj. Screw 
13(.51) Hex.

Lock Nut  
13(.51) Hex.

95(3.74) Dia.

Lock Nut  
13(.51) Hex.

Drain Port  
"D" Thd.

Filling Port  
[22(.87) Hex. Head Plug Furnished]

147
(5.79)

Flow Adj. Screw  
13(.51) Hex.

DEC.

Response Characteristics Change in Accordance with Circuits and Operating Conditions.

AR16-FR01∗-20/2080/2090
AR22-FR01∗-20/2080/2090

Install the pump so that the "Filling port" is at the top.
A screw-in torque of fitting is 40 - 50 Nm (354-443 IN.lbs.).
  Do not apply bending and thrust torque to the fitting.

Conditions

Test Circuit and Conditions Result of Measurement
Circuit

Drive Speed : 1500 r/min
Hydraulic Fluid : ISO VG32 oil
Oil Temperature : 50 °C (122 °F)

2  Viscosity : 20 mm /s (100 SSU)

No.8

"AR" Series Variable Displacement Piston Pumps  
Single Pump, Pressure Compensator Type

DIMENSIONS IN  
MILLIMETRES (INCHES)



PISTON  
PUMPS

A
Pipe Flange Kits/Mounting Bracket Kits

Kit Numbers "C" Thd. D mm (IN.) Soc. Hd. Cap Screw Approx. Mass kg (lbs.)

F5-06-A-1021  

F5-06-A-10901  

F5-06-B-1021  

F5-06-B-10901

Rc 3/4  

3/4 NPT

15  

14.45  

15  

16.75

(.59)  

(.57)  

(.59)  

(.66)

0.5 (1.1)  

0.3 (.66)

M10 × 45 Lg.

M10 × 30 Lg.

3/8-16UNC × 1-3/4 Lg.

3/8-16UNC × 1-1/4 Lg.

Approx. Mass  
kg (lbs.)

Mtg. Bracket  
Kit Numbers

LP-1A-10

Pump Model  
Numbers

AR16/AR22-FR01 2.2 (4.9)

48
(1.89)

(.874)
22.2

(1.18)
30

47
.6

(1
.8

74
)

66
(2

.6
0)

D D

(.59)

8

15

(.31)

27
.7

D
ia

.
(1

.0
9)

0.3-0.5
(.01-.02)

20
(.79)

31
(1.22)

48
(1.89)
22.2

(.874)

47
.6

(1
.8

74
)

70
(2

.7
6)

14.8
(.58)

17
(.67)

50
(1.97)

56.5
(2.22)

95
(3.74)

27.5
(1.08)

95
(3.74)

72.5
(2.854)

72.5
(2.854)

180
(7.09)

80
(3

.1
5)

15 (.5
9)

14
5.

5
(5

.7
3)

3
(.1

2)

12(.47) Dia. Through  
24(.94) Dia. Spotface  
4 Places

Mtg. Bracket

Hex. Bolt  
(2 Pcs.)  

M10×25 Lg.

Plain  
Washer  
(2 Pcs.)

Soc. Hd. Cap  
Screw (2 Pcs.)  
M10×35 Lg.

3/4 BSP. F  Thd.

O-Ring  
SO-NB-G30

11(.41) Dia. Through  
17.5(.69) C' bore  
10.8(.43) Deep  

2 Places

11(.43) Dia.  
Through  
2 Places

"C" Thd.

O-Ring  
SO-NB-G30

Soc. Hd. Cap Screw (2 Pcs.)

O-Ring  
SO-NB-G30

Soc. Hd. Cap Screw (2 Pcs.)

14 (.5
5)

Pipe Flange Kit for Suction Port

Mounting Bracket Kits
Mounting bracket available on separate order. Mtg. Bracket Kit: LP-1A-10

Note: The mounting bracket kit consists of a mounting
 bracket, 2 hex. bolts and 2 plain washers.

F5-06-A-10801

F5-06-A-1021/10901 F5-06-B-1021/10901

0.5 kg (1.1 lbs.)Approx. Mass............

No.5

"AR" Series Piston Pumps  
AR16 / AR22 - FR01

DIMENSIONS IN  
MILLIMETRES (INCHES)


	Pages from Yuken-Variable-Dis-Piston-Pumps
	Pages from Yuken-Variable-Dis-Piston-Pumps-3
	Pages from Yuken-Variable-Dis-Piston-Pumps-2



